

Prénom :

Date :

CALCUL MENTAL

OBJECTIF : Calculer des expressions comportant des parenthèses.

| | | | |
|----------------------------|----------------------------|----------------------------|----------------------------|
| $9 - (7 \times 1) = \dots$ | $(7 + 1) - 4 = \dots$ | $(5 + 8) - 2 = \dots$ | $(4 - 1) - 1 = \dots$ |
| $8 - (6 - 2) = \dots$ | $(7 \times 7) + 1 = \dots$ | $3 + (3 \times 4) = \dots$ | $(5 \times 7) + 8 = \dots$ |
| $(3 + 3) \times 3 = \dots$ | $(9 - 7) \times 7 = \dots$ | $(3 + 1) \times 7 = \dots$ | $7 \times (3 + 2) = \dots$ |
| $(9 - 3) \times 4 = \dots$ | $(8 \times 7) + 6 = \dots$ | $6 \times (8 - 7) = \dots$ | $5 \times (8 - 6) = \dots$ |
| $(2 + 7) \times 8 = \dots$ | $(7 + 5) - 5 = \dots$ | $(7 \times 1) + 3 = \dots$ | $4 \times (5 + 2) = \dots$ |
| $(7 + 9) - 9 = \dots$ | $(8 + 6) - 8 = \dots$ | $(9 - 1) - 1 = \dots$ | $8 - (7 - 2) = \dots$ |
| $(3 \times 1) - 2 = \dots$ | $(6 \times 5) + 7 = \dots$ | $(1 \times 8) - 4 = \dots$ | $(5 - 1) \times 7 = \dots$ |
| $(9 + 9) - 5 = \dots$ | $6 \times (8 - 3) = \dots$ | $5 \times (3 + 2) = \dots$ | $(7 + 7) - 6 = \dots$ |
| $(1 \times 3) + 2 = \dots$ | $(4 \times 1) + 5 = \dots$ | $(8 \times 3) + 2 = \dots$ | $(8 \times 4) - 3 = \dots$ |
| $3 + (4 \times 5) = \dots$ | $2 + (3 \times 2) = \dots$ | $6 \times (9 - 4) = \dots$ | $(8 + 6) - 7 = \dots$ |

CORRECTION

CALCUL MENTAL

OBJECTIF : Calculer des expressions comportant des parenthèses.

| | | | |
|-------------------------|-------------------------|-------------------------|-------------------------|
| $9 - (7 \times 1) = 2$ | $(7 + 1) - 4 = 4$ | $(5 + 8) - 2 = 11$ | $(4 - 1) - 1 = 2$ |
| $8 - (6 - 2) = 4$ | $(7 \times 7) + 1 = 50$ | $3 + (3 \times 4) = 15$ | $(5 \times 7) + 8 = 43$ |
| $(3 + 3) \times 3 = 18$ | $(9 - 7) \times 7 = 14$ | $(3 + 1) \times 7 = 28$ | $7 \times (3 + 2) = 35$ |
| $(9 - 3) \times 4 = 24$ | $(8 \times 7) + 6 = 62$ | $6 \times (8 - 7) = 6$ | $5 \times (8 - 6) = 10$ |
| $(2 + 7) \times 8 = 72$ | $(7 + 5) - 5 = 7$ | $(7 \times 1) + 3 = 10$ | $4 \times (5 + 2) = 28$ |
| $(7 + 9) - 9 = 7$ | $(8 + 6) - 8 = 6$ | $(9 - 1) - 1 = 7$ | $8 - (7 - 2) = 3$ |
| $(3 \times 1) - 2 = 1$ | $(6 \times 5) + 7 = 37$ | $(1 \times 8) - 4 = 4$ | $(5 - 1) \times 7 = 28$ |
| $(9 + 9) - 5 = 13$ | $6 \times (8 - 3) = 30$ | $5 \times (3 + 2) = 25$ | $(7 + 7) - 6 = 8$ |
| $(1 \times 3) + 2 = 5$ | $(4 \times 1) + 5 = 9$ | $(8 \times 3) + 2 = 26$ | $(8 \times 4) - 3 = 29$ |
| $3 + (4 \times 5) = 23$ | $2 + (3 \times 2) = 8$ | $6 \times (9 - 4) = 30$ | $(8 + 6) - 7 = 7$ |